
Minusrechnen (bis 250 000)

Aufgabe 1

1. 153 638 - 119 361 =   

2. 185 954 - 82 197 =   

3. 143 882 - 61 571 =   

4. 87 521 - 39 365 =   

5. 213 433 - 150 562 =   

6. 208 066 - 65 291 =   

7. 137 669 - 60 851 =   

8. 141 169 - 109 260 =   

9. 249 770 - 120 953 =   

10. 123 474 - 70 620 =   

Aufgabe 2

1. 174 010 - 92 229 =   

2. 206 289 - 99 635 =   

3. 199 498 - 166 744 =   

4. 204 921 - 107 494 =   

5. 145 948 - 44 884 =   

6. 231 737 - 67 284 =   

7. 144 579 - 53 157 =   

8. 68 930 - 59 452 =   

9. 59 256 - 46 569 =   

10. 157 710 - 95 871 =   

Aufgabe 3

1. 218 314 - 156 288 =   

2. 219 659 - 211 950 =   

3. 47 699 - 26 905 =   

4. 205 850 - 146 095 =   

5. 177 905 - 117 711 =   

6. 235 745 - 69 058 =   

7. 200 690 - 106 911 =   

8. 184 701 - 155 021 =   

9. 167 223 - 160 276 =   

10. 142 744 - 80 697 =   

Aufgabe 4

1. 239 474 - 183 110 =   

2. 182 048 - 93 912 =   

3. 122 660 - 38 618 =   

4. 214 043 - 65 137 =   

5. 235 809 - 225 814 =   

6. 148 114 - 92 133 =   

7. 206 023 - 47 073 =   

8. 158 884 - 46 260 =   

9. 244 064 - 86 232 =   

10. 213 005 - 158 127 =   

© MaxKlug.de Online üben  |  
Lehr- und Lernbücher  |  
Arbeitsblätter  |  
Lehr- und Lernmaterialien

Subtrahieren


 




Minusrechnen (bis 250 000)
| ANTWORTEN

Aufgabe 1

1. 153 638 - 119 361 =  34 277

2. 185 954 - 82 197 =  103 757

3. 143 882 - 61 571 =  82 311

4. 87 521 - 39 365 =  48 156

5. 213 433 - 150 562 =  62 871

6. 208 066 - 65 291 =  142 775

7. 137 669 - 60 851 =  76 818

8. 141 169 - 109 260 =  31 909

9. 249 770 - 120 953 =  128 817

10. 123 474 - 70 620 =  52 854

Aufgabe 2

1. 174 010 - 92 229 =  81 781

2. 206 289 - 99 635 =  106 654

3. 199 498 - 166 744 =  32 754

4. 204 921 - 107 494 =  97 427

5. 145 948 - 44 884 =  101 064

6. 231 737 - 67 284 =  164 453

7. 144 579 - 53 157 =  91 422

8. 68 930 - 59 452 =  9 478

9. 59 256 - 46 569 =  12 687

10. 157 710 - 95 871 =  61 839

Aufgabe 3

1. 218 314 - 156 288 =  62 026

2. 219 659 - 211 950 =  7 709

3. 47 699 - 26 905 =  20 794

4. 205 850 - 146 095 =  59 755

5. 177 905 - 117 711 =  60 194

6. 235 745 - 69 058 =  166 687

7. 200 690 - 106 911 =  93 779

8. 184 701 - 155 021 =  29 680

9. 167 223 - 160 276 =  6 947

10. 142 744 - 80 697 =  62 047

Aufgabe 4

1. 239 474 - 183 110 =  56 364

2. 182 048 - 93 912 =  88 136

3. 122 660 - 38 618 =  84 042

4. 214 043 - 65 137 =  148 906

5. 235 809 - 225 814 =  9 995

6. 148 114 - 92 133 =  55 981

7. 206 023 - 47 073 =  158 950

8. 158 884 - 46 260 =  112 624

9. 244 064 - 86 232 =  157 832

10. 213 005 - 158 127 =  54 878
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